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Time : 3Hrs. Sem. I/II - [G]

Engg. Chemistry

Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 8  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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Old Syllabus
OR

20 CC of Ganga water reacts with 10 C.C.

Find hardness of Ganga water.

20 CC 

number 56. Neutron  is 30.4 % more than electron.

Find atomic number.

method.

'O' 

N
10

N
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8.

8

HCL

HCL
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        

P.T.O

Which of the following is acid oxide.

(a) CO 

(b) CAO

(c) NAO  

(d) None

Quick lime is :

(a) CASO

(b) CAO

(c) MgO

(d) None

OT12003OT12003

Distinguish between paint and varnish.

OR

Answer all Five Questions. 
8 x 5 = 40

Write down important ores of Fe. How Fe is 

extracted from red haematite ore?

7.

8
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2
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(iii)

(iii)

(iv)

(ii)

The member of molecules present in 18 gm

of water is:

(a) 1

(b) 3

(c) 6.02 x10

(d) None

The formula of copper pyrites is :

(a)  CuFeS

(b)  Cu S  

(c)  Cu O  

(d)  None

6.

4
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What is Co- ordinate bond? Define it with examples.

 Cr Cu 

good varnish?

5.

OR

4

                                   OR
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(v)

(v)

(vi)

(iv)

Smelting involves reduction of metal oxide

with:

(a) Al 

(b) C

(c) Mg

(d) None

The impurity present in the ore is called:

(a) Flux

(b) Gangue

(c) Slag

(d) None

4.

OT12003OT12003

OR

What is acid rain? Describe its effects.

Establish relation between KP and KC.

4                     

3.

OR

4                     

2

2
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H PO  is :  

(a) Monobasic

(b) Dibasic

(c) Tribasic

(d) None

pH of acidic solution is :

(a) 14

(b) 7

(c) Less than 7

(d) None

(vii)

(vii)

(viii)

(vi)

Answer all Five Questions. 

2.

4 x 5 = 20

Calculate number of electrons in 1.6 gm of CH

(xx)

OT12003 OT12003
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Which compound contains electrovalent bond:

(a) N 

(b) CO 

(c) NaCl

(d) None

L.P.G. gas is a mixture of :

(a) CH + C H         

(b) CO + H

(c) CO + N

(d)  None

Cathode ray contain:

(a) Electron

(b) Proton

(c)  Neutron

(d) None

The total value of m for l =3 will be:

(a) 5

(b) 7

(c) 1

(d) None

(ix)

(ix)

(x)

(viii)(xviii)

(xix)

(xx)

(xix)

OT12003OT12003
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The equivalent of crystolline oxalic acid is:

(a) 63

(b) 126

(c) 90

(d) None

The number of orbital in 4th orbit is :

(a) 4

(b) 8 

(c) 16

(d) None

 The Hardness of 7  clark is equal to:

(a) 7 ppm

(b) 100 ppm

(c) 70 ppm

(d) None

The percentage of oxygen in air by volume is:

(a) 21%

(b) 23%

(c) 78%

(d) None

(xvii)

(xvii)

(xviii)

(xvi)

(xi)

(xi)

(xii)

(x)
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Which element has highest electron effinity?

(a) F

(b) Cl

(c) Br

(d) I

Azurite is an ore of :

(a) Cu

(b) Al

(c) Fe

(d) None

The structure of water is :

(a) Tetrahedral 

(b) Triangular planar

(c) Linear

(d) None

The cetane number of n-hexadecane is :

(a) 0

(b) 50

(c) 100

(d) None

(xiii)

(xiii)

(xiv)

(xii)

(xv)

(xv)

(xvi)

(xiv)

OT12003OT12003
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Find the pH of 10  m HCl.

   10 m HCl pH

What is the importance of chemistry for engineers

and its application in industries.

electron jumps from n=4 to n=2 of H atom.

weight of element is determined by this law.

OR

9.

8

OR

10.

8

-8

-8
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Explain in details ionisation energy, electron 

affinity and electronegativity. How are they 

related ?

(a) Aufbau Principle

(b) Cracking of petroleum.

(c) Global warming.

11.

8

OR

***
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